Rlllb

= T N
[ > I~
[} (&) .
£ - g 4 / ioo
m.» N o =~ =Y
S o S| w a
NEC) 2 Sl <
0, 2 = N 2
<5 5 |83
? & s g 9
™ k w
<z s s g <
Qg = = T[> =
© z o w dlg (@
= o = <| 4 i 1G]
g = S 2 ] << oflg < R
= o < . NS = (@)
pes S _/. [} - a © [5] = x|~ D N
E o = 2 m ] = Q| = M N gl
S & < g S o @ |3 = HEIEEs @l O
- LN D < elpl =Z ||R[x &
5 oS sl @ 2zl < ||g 2l
2 = ) 8=l 3 = ||
g > SZ: ol @ AR
E ¢ E s 2 N = all = =N << || i
© s ° L = il N o RS ANn W Q Ll o
o~ < e 2 S o S5 o N L X
ST E o 2 N o R u. o 3 = 5| R
g4 % = == o 58 B = |8 8] |Z ok
Zq e g 3 U Sl ES 2|4 L 9 [
o O N s o = > - (o' > N|.. = =~
SEEE y 2 NS S|| S5 S @
S3s8 . £ S28| Hol &8 2| 123 |4
22380 ] & 8§ e i o - O o= - N © o K
SE¥3: B £ & ao-os © Wil 5< . - 3= © §
mm.mm& T ®© ®© BKOUR 1&) > =l e = S
22288 £ £ 2 c L2928 |48 2|l |lE| |2 o
= xx & S Z |2 s 3|
55888 § § § = 2 %588 gz = £ |E
2282 2 z 2 3 e n <|[35 2 = — > =y K
EEEsf & 3 & & - Zldz8 g =l & IS S Q
SETeE B B B D = | 2888 4.
£8888 § 8 8 8 " 0 SiHEQ = 222z
— =IREES AN E R S
B & % RWw%mm 5 M_MMMOWWWW
< | 1 OREa g3Es a8 [} § EIHEEIEE B
- < e P -~
> [ 1] A TI9N SilES s EHHEEEELE
| 15 X = < 4 o
& b m 55 0 = 5|35
-
—
508/9 7[__
— 593/6
B
—
11
I
I
N
S l.’__
/// I—
3820 > )
/ .'___
N
o
-+
I
||
i
gL 593/5
© w
— 7R
e Lhe
[ . 3850
+046
Koniec Op.: km 0+965.66 T
Ul. Pocztowa_W4 i
T
d NA—]
ss25 54 ‘ [ 3850
. 3822 # a
i LA
o ‘\\
508/10 \
593/4
= /!//f/!//f/(//; 384.81 \
T s /
IIIIIIIIIIIIIII /
I T T J
- a Tt ch.gr.
] R + = 1 T
m RIVa “ Bz 385.0 /,//
N\, | iE So —
I it l
y |
! /r 3 18420
I
N
N AN 384.3
AN N .
/// /// La
/// /// : I O m‘_mm._
AN AN R PKP: km 0+918.
AN o A=35.000 ©93/3
N ///
/// o i
~ ~
N //// )
//// ~o J9zd pu — H
//// T ——— &@ﬂojumom\: I
;;;;;;;;; e b 36 dGKKKP: km 04905 g5
i | R=100.000
| mmvm\ , 3834
|
i 3817 r KKP-PtK: ki 0+901.09
. 3819 w%wloo.ooc
| -
1381.85
| Koniee Mijank; 503/
. km Orggg oy 32
_ 602/3 BRP: ki 04 ggq 84
— \,umm.ooo
1
|
- . 3815
l* dpn
—
=
B
F—— . 3805
B przebud / i
— oSwietleniowego —
- . 3787 PKp-
 Phos g | g
E/o 5.000
_
B
—
-
“Aw 3786
—
—
I/
U #Ax_u-nwx..mg%i.mw 1\ 
=
1 R=100.000 I
L . 376.3 ]
- =
L — 643/17
(I ]
—
“_.|._ T—Aﬁ. _AB O+@@N.\_N 3754 E—
—1 = O
[} ASSS00 — 643/16
= —
—
[ —
5
i —
L
I = przebudowa stupa 743 - —
m||__ osSwietleniowego -
| s730
372.8 |
[
=
mJl = 643/10
= ==
— i
[ I
— -
371. 1 |
__ I_wwm.o @ON\@ __ _
— 372.3 |
L . |
| L __ 374.2
“_\lm ! 28, 574.2
= 643/19
| E—
=
I —
[
P
= 643/18
=
I , 3722
T
—
J Nw u os\m Stipa 373.1
! OSwietleniowego 2
i 3705 -
- , \ .~ 643/21
= -
= B
646/68 m\lﬁ___ 3703 |
369.4
3684 1
E
|
| 643/20
|
__ 369.4
1
|
_ A—
367.5 .__ — s
! Koniec mijanki &
_ km 0+732.02 $
_ dgn
| 3706 3703
L=
= 217
[ PKP: km 0+722.
4 A=40.000
0
(- 643/13
-
—
[ 367.9
i \
- E 602/6 367.6
366.5 H 367.2 ' / g
i |
L — KEK-KKP: km 0+706.17
P ! R=100.000
— 369.2
[ J—
i i : Poczgtek mijopuf
— | km 0¥ 7pr'35
J—
= _w
B o7
[ —
E a
E N
ﬂ 366.4 AN !
365.9 . /\\“
mu“ KKp. A
_ 7
= “ w/?m%,w. 14
I P =100
- ¢ -000
\«oE. 1
e p .. —!
km S\\oi i
Q*Q%V / -
.58 “\U__
=
e
pr; mccm@m_ fipia 60
oswidlshidules b\«b.. tn
_ru__ Pxp. ko mu*% ) 14 645/1
HKp: __h x_/*%%
75000~ 0¢654 Ealy; %000
|
b
B \
B
364.1 af
345.2
i \T/\
Poczqtek mijanki _ 11485
37.58 3Bd.6
O6b R otk
ml
/
342 [
PKP: km 0+625.58 i
364.9
363.9 )
| 364.4
3624 /ﬁ
364.0
363.3
36374 4
362.8 , _M
fazd indywidualny
, 362.1 o km 04563.75
362.05
646/66 ~7
T 2.04 K
94 30%.1
“A 360
k 362.96
362.26
S
~< 362.95
y D115510 30245
362.4 o
362.57
S682.72
360.
F9 &,\
, 3618 Zjozd indywidualn
km 0+529/04
\ \ roeWO



AutoCAD SHX Text
km 0+911.50

AutoCAD SHX Text
Zjazd publiczny

AutoCAD SHX Text
km 0+529.94

AutoCAD SHX Text
Zjazd indywidualny

AutoCAD SHX Text
km 0+563.75

AutoCAD SHX Text
Zjazd indywidualny

AutoCAD SHX Text
km 0+637.58

AutoCAD SHX Text
Początek mijanki

AutoCAD SHX Text
km 0+667.58

AutoCAD SHX Text
Koniec mijanki

AutoCAD SHX Text
km 0+701.36

AutoCAD SHX Text
Początek mijanki

AutoCAD SHX Text
km 0+732.02

AutoCAD SHX Text
Koniec mijanki

AutoCAD SHX Text
km 0+857.59

AutoCAD SHX Text
Początek mijanki

AutoCAD SHX Text
km 0+888.56

AutoCAD SHX Text
Koniec mijanki


	Arkusze i widoki
	2.8


